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I. Choose the word / phrase (A, B, C or D) that best fits the space in each sentence. (2.5 pts)
1.  Nowadays , advertisements on the  media are very important and _____________  in business.
   
 A. communicative 
B. considerate
 
C. commercial

D.  standard 
2. Have a cup of tea, _______?


A. do you

B. will you

C. aren’t  you

D. don’t you

3. The intense 8.9 earthquake and tsunami have struck the east coast of  Japan________ March 11th 2011.

A. since

B. in


C. on


D. from
4. P1: How long will your homework take you ?                   P2: ______________________.
    
A. In the evening
B. For two hours
C. Since I came here
D. Until eight o’clock

5.  _______ he practised hard, he didn’t pass the driving test.


A. As long as

B. Even though
C. As


D. If

6. The sign says “ Smoking is  ______________ here because it’s harmful to children”.
    
A. allowed

B. stored

C. prohibited

D.  freed
7. It is very difficult to integrate yourself into a community_______ is quite different from yours.

A. whose culture
B. the culture that
C. which culture
D. that culture

8.  Because he always did ________ on his English tests, his parents were not surprised that he got an A.

A. fluently

B. joyfully

C. generously

D. well
9. P1 : “ ________________________ ”


P2 : “ That’s a good idea ! Let’s do that .”

A. How can we recycle bottles and cans ?
B. Would you mind recycling  bottles and cans ?

C. Why don’t we recycle bottles and cans ?
D. I think only the factory can recycle bottles and cans

10. Sue was _______ in the accident; meanwhile, her sister has only minor injuries.


A. serious ill

B. badly injure

C. seriously hurt
D. bad hurt

II. Choose the underlined word or phrase (A, B, C, or D) that needs correcting: (0.5pt)
11.   Teachers are responsible with the parents for the children’s safety at school. 

           A                                    B
       C                              D 

12.   As  I came downstairs, I  nearly ran into an old lady. 

         A          B                             C               D 

III. Choose the word (A, B, C, or D) that best fits the blank space in the following passage: (1.5 pts)
            Peter has a very exciting summer holiday this year. His French pen-friend invited him to visit her family in the south of France. Peter went by plane from London to Paris. Marie, his French friend, (13) _________ him in Paris and they took a train from Paris to Marseilles. Marseilles is the (14) __________ where Marie’s family lives. It is a very large port. A lot of people live in Marseilles and (15) _________ are many interesting shops and cafes there. Peter started learning French at school two years ago and he spoke French all the time with Marie and her family. At (16) ________ it was very difficult for him but soon it became (17) __________ easier. One day Marie and her parents took Peter for a picnic in the mountains. They climbed a big hill. From the top of the hill, they had a wonderful (18) _________. In the distance, they could see the sea. Peter was very sad when it was time to go back to London and school. He is looking forward to next summer when Marie is going to spend her holidays with her family in English. 

13. A.   met            
B.   saw                         
C.   took                      
D.   greeted 

14. A.   country     
B.   town                       
C.   capital                   
D.   village 

15.  A.   they           
B.   those                      
C.   these                      
D.   there 

16. A   first            
B.   beginning              
C.   starting                   
D.   first time 

17. A.   much        
B.   so                           
C.   too                          
D.   extremely 

18. A.   sight         
B.   view                       
C.   scene                      
D.   scenery  

IV. Read the passage, then decide if the statements that follow it are True or False.  (1.0 pt)
      Like other languages, English is always changing, but it changes very slowly. People invent new words, borrow words from other languages and change the meaning of words as needed. For example, the English word “byte” was invented by computer specialists in 1959 .The word “tomato” was borrowed from Nahuati, an American Indian language spoken in Mexico . The word “meat” once referred to food in general. People learn English as well as languages by listening, copying what they hear, and using the language. Most school children learn their first language easily and sometimes other languages

19. English is changing very quickly.
___________
20. Some English words are borrowed from other languages. 
___________


21. Some English words are invented by computers
___________
  .                     22. One of the ways to learn English is copying what you hear.
___________
 

Read the passage again and choose the best answer (A, B, C or D) (0.5)
23. The main idea of the passage is __________________.
A. How to learn English
B. How English is changing

C. How words were invented
D. How to use the language
24. English is always changing as well as __________________.

A. American
B. Another language
C. Indian
D. Other languages
Rearrange the words given to make the meaningful sentence (0.5)
25. in the Times / I / in his article / the global warming / am very interested / about //
26. the oceans / if / dumping nuclear / nations keep on / will become polluted/ into the sea / , //
V. Use the correct form of the word given in each sentence. (1.5 pt)

27. Having good interpersonal skills can be _________ for getting a good job. 

(choice )

28. The ________ program put the children to sleep. 

(bore)

29. Mary was shouting ________, waving her certificate in the air. 

(excite)

30. Everybody feels worried that the big storm will reach the __________ village tonight. (coast )

31. I am a ________ person. I’d like to participate in outdoor activities. 

(society)

32. Be _________ with your work or you’ll spoil this environmental area.

(care )
VII. Rewrite each of the following sentences in another way so that it means almost the same as the sentence printed before it. (2.0 pt)

33. John hasn’t had his hair cut for over three months. → It has ________

34. “Don’t be late again!” the teacher said to me. → The teacher asked ________
35. Her parents made her work hard for the final examination. → She  ________
36. His family was poor, however, they lived happily.→ His family had a __________
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